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30192160 2ulrbluhtp uu hurur 300 5 1.5

30197631 pnr.qp rnqurqpur\urh UU rnm{t 10000 5 50.0

30192780 tgurprudul-tf2 UU huln 320 10 3.2

39241210 rI\pruLn qpruuhl-rltu\ulftlt UU huru 650 2

39263400 uLIpru\hhp UU vrntrlr 400 1.6

39263510 utrlLlu\, {mpp UU hu.tn 30 z) 0.75

39263510 uhrplu\, f2fh UU huln i00 36 3.6

31681300 ttlf! uurpplr thrnurfrtp h uluhrlurtrhp UU 4Fur 400000 T 400.0

31681300 halft-fr lLurlultp Lru hulrL 8000 20 160.0

3r7rr140 q lrl nururlfL uruppruLlnp uL \h\upnr1 uu 4nurLI 250000 1 250.0

3374111,7 pu pur\ UU huln 300 20 6.0

33211000 urlulnnpn2|r1 tilmphp UU llrur 350000 1 350.0

33696550 lupnpulnnp odrulqur\ LlmPhP UU 4Full 200000 t 200.0

33691162 Llrpnlurunl urqlurhlmphp (nhuqttruLhp) uu \IIUT 500000 1 500.0

3374tL29 rrh rubLtn uu hrur.n 120 50 6.0

24310000 hftthru\urtr uhopqurLur\urh pflllru\ruh trlmphp tru llur 340000 1 340.0

38436500 Ltruqtrf uur\urh luunbf 2 UU huln 37000 1 37 .0

30232231 hur{ru!urpq1}r \n2ur ullul{urnru\ UU hurur 17000 2 34.0

30236110 oru hnruurhr.l hlr2nqmPlnth uu hruut 19000 2 38.0

302371r2 uhmc urh pln\ uu hrur,n i9000 2 38.0

30234630 | $thr hhrnnntptnttr 8 GB uu hrur.n 4000 4 16.0

30232000 Iq nn uurnptn UU hruur 100000 1 100.0

33761100 qnrqrupruhlr pntlp UU hruur 130 200 26.O

315 2 r 110 lnluund.ub 60X60 UU huln 9000 16 1,44.O

31512360 lmuurp&ur\ 25X25 UU huln 5000 4 20.0

31521200 lurLtq t\nLrn uu huln 1200 | 10 12,0

315 31210 t1L\urpur\urh luniq 60W, 80W, 100W UU huLn 100 I 20 2.O

3722L280 tn!urnrug u:l.r tu.rFhn uu hruu 2500 6 | 15,0

31321110 qubn h hqhL lup ruh ulnr ful-rhP UU r.thup 250 60 15.0

37711"250 |unqn{u\ 2r1 UU hurp 900 5 4.5

3171,7250 lunnmlurll 4n UU rlhr.np 450 5 | 2.25

3771,1,250 funqnr.liu\|r \gur uutp UU huln 450 6 2.7

3433 r300 urlrnndhptt-nuhhplr qur hLuuru-nluruLp uu 4nurI 100000 1, 100.0

34911150 q url-ruq rul rq uhtutn u rluruhp UU llud 100000 1 100.0

38431700 1 
urpnpu.nnnpfrrul|r \rupnglr2hhp b qrupurqurtrhp uu 4Fur 300000 1 | 300.0

38591000 LurFnPurunP urulP uu 4nu 950000 I 950.0

39812600 rlurppnq drubm!l-rhp b ftn2|tLhp tru hu:rn 450 40 18.0

39831242 rrlurqph finrh &tnpm] 1{ulllu1nt hurr.ftup UU hunn 300 20 6.0

39831246 hhnmb trlrugnl1 bpng tru hruur 1950 10 19.5

39831281 ruqul\fr urpptlar prp UU huu 450 40 18.0

39831282 !uhntlp rlurpptlm lurp UU hurur 600 10 6.0

39831283 huurruhh I rlruqriurL tiuB uu hunn 500 20 10.0

39836000 uLltl (.tu hrurn 700 20 '14.o

39831247 uluurruhurtan hhnmh uruhhurhqmtqh (]ulnurbtmp) uu hutn 600 10 6.0

39831240 r.lurppnq hlmphp UU hurr.n 500 20 10.0

3983r244 odun uhurhuurbrub uu huln 150 20 3.0

39831245 odrun htlm! UU hurr.n 400 20 8.0

19641000 unrhtBhrhtrurhL 14u.rp! uqplr hu up uu huur 1450 10 14.5

19641000/1 !u u hLrdhr hLrurthtr rq runU ruqph hurUun Lru hurur 320 10



44221140 uiuulnrhuhLhF uu huln 120000 I 120.0

442211,40 4nhhp tr.nu.rqur\ur1-r zuu hunn 485000 2 970.0

4411i200 gtrithu uu qurFLl 2600 60 156.0

742rL700 luluq uu ulurpU 250 6 -1.5

44322300 riurtmlu hurhulntu{urE htnur}unuur\urqf hu urp UU rtturp 250 50 12.5

32237600 hhnurlunuruthh Lruuth uurpphn uu hutn 75000 1 7 5.O

32361100 hhr.nhntrhur \urut h uupphF UU hrurn 75000 1 75.0

4441!740 q n rqru n u hul ll ntrp uu hrurn 30000 2 60.0

44411300 trlruqurnr!h uu hruur 13000 1 13.0

444!r!20 9pf Snpru\ UU huln 6000 1 6.0

44411510 rf u\uLLhp uu huln 1800 3 5.4

44423680 2]rturprupntppuh rlh2 oquurqnpbr{nq qruhurqurh

rull lulunruhBhtn
UU +Irul 300000 1 300.0

44511000 &tnpfr qnpbfpLhp uu 4nru 100000 1 100.0

44527720 nnurh rhur!u.rhbhn uu rlPulri 40000 1 40.0

Ct4tutbbp wt4pwlpbbV 7532.4

Uurnrulnrplnr-hLhp

45461100 2hhptplr 1.r 2irlmr-p3nttrhtpir pl.rpurglr\ trnpnqrturtt

ru rluulnurhphhn
qz llrur 560000 1 560.0

45311 125
htnLuJunuurl|rl-r qElr rnbryurlpmrl h tlurlnrlutrtpfr
ruLrg\rugnr

UU qlruri 250000 1 250.0

501 11130
ur{rnndtphtrul-rhpf {tpuLnpnqLtul-t
bunurlmplnth

uu rlFur 250000 I 2s0.0

50750000
rlhphlur\]r rlhpurlupnqrftuh h uqruhqu.rl-nirul-r

brunurlmralmh
tru rlFur 100000,, I 100.0

50411160
rfnp&urp\n1 uurpphplr {hprul-rnpnqduL lt
ruurhuruh ruh Eurnulnrplnthhhp

UU lllu s00000 s00.0

50711100 \h\upur\ruh uurpptpfr r{tpurtrnpnq uL l:
rqu-rhqurLriurh Erunrulmplmhhhp

UU lpuri 150000 1 50.0

64111000 hurbnruthh hhnurlunuur1|rh burnulntplnr fu uu 4Fur 500000 1 500.0

65111 100 pnh purtluntr{ UU lpuld 300000 1 300.0

65311100 h.thtnqhuth rurlunt uu llur 9000000 1 9000.0

64121000 unrphuh4u\ur1|Lh brunurlnrplnth UU 4FulrI 132000 1 732.O

66511170 urlurnrlhphLruth ru q urhn! ru ql rftu tr bunulnrplntfu uu r1lturl 35000 2 70.0

71631120
ul{rnnrlhpttur;f rnh]uhitllLu\u L uumq ruh
lflrnnrnrnrnrh

uu llr!uri 10000 3 30.0

71221200 hutph uln+hruhurl-ruroriurl-r burnurlmplmh UU 4Fu 400000 I 400.0

7226r160
bpruqpurl|rh urquhmlr.lurh uulururup\ urtr

bulnurtmlatnth
uu lltu 400000 I 400.0

72212300 &ruprnurpulq hr,nruliruh burnrulmplnthLrtp 200000 1 200.0

79981 100 prudutrnnlruqnrJruh brunurlntplnrlt Lru 4nrurt 9000 12 108.0

72400000 hurirugurhgiulfrtr brunurlnrplnrhhhp uu llurU 470000 1 470.0

79131300 \h\upnLurllrb uunpruqpmp;uh
hull unnurpr.ftuqprlluh bunurlnlp]nlh

uu ryruU 3100 1 3.1

79223000 urpuullrh rllr2hnpqf (ppnphp) 8unurlmplmtrhhp UU qlurU 200000 1 200.0

79811000 rnruruqnurburh bunurlmralmh uu +Fuli 100000 1 100.0

90921 100
ruluunuhruhrlull h ur\rupmlELtpfL nltr2urgriurh

brunurtmBtnr,hhhn
uu rlFru 180000 1 180.0

90511 100 rurlpir hunlurpriulh burnrulntplnth UU +lurd 360000 360.0

09331400
urphurl]rh thhpqllu;fr uraurgrftuL hru uhulqh
luuhurqbmr-l h urhn runnmrl +lulf 0 0

48441300
hur2rlurqurhur\ruh hruLtru\urp q2ulfrtr Epurqpul3frh

rhruBhB
UU rlFur 125000 I tz).v



99600000
qlrnrLt thurllbuurgnl buluuhl /qnlbnlrlr.Iurh
burhuhn/

UU llulU 1100000 1 1100.0

Cbn ut lb It p 6 wn w 1 n t plnL lt Lr b p 75488.X

Qtr4ur btrp 23020.5
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thqpubphhp
03111280/1 \unr2nrL1 (hh1nr\ o fr q n rI Lp u;frtr) q2 hurut 1000000 1000.0

03111280/2 !runtlm\ (pmpu{rhL-hfinlltfut:bL) qz hruu 20000 10 200.0

03111280/3 !urmynt! (pmpur4hhtrurthh) qz hruur 20000 10 200.0

03111280/4 \urm;nt! (runt hmnturulnuthtr) q) hurr,n 20000 10 200.0

14521110 rlhuru-rnl-rtnh thnrhhtn UU huln 150000 1 150.0

14821000 urrr1ullh qt /p 6000 50 300.0

19521500/1 ]uhd (tur opuhnurthtr) uu huln 20000 10 200.0

1952150012 lutd ($hLot$on urrhhh4urthh) uu hrur,n . 20000 10 200.0

24311190 ppnrl-rhp UU hrurn 50000 10 500.0

24321660 quhruqurh opgruhrullurh phrlhrul,trul-r l-rtntptn UU hruur 30000 5 150.0

24321340 hBurhnt, rdrlrurburh uu hrurn 50000 I 50.0

30211200 4lnrpur!|rp hur ur\urpqfrlhhp }L hruur 400000 8 3200.0

30211120 qhnhru uUurnqh) q2 hurur 2000000 1 2000.0

30211190 hruri u-r h urnqhr Uhn q) hur,n 400000 4 1600.0

30211280 hrul[uhurnqhr rurlpnnqn r.Itbmrf qe hurur 150000 4 600.0

30232110/1 ruqtnurhh rrrruhl/ -A3/ YL hurt.n 400000 1 400.0

3023211012 lurqhpulftr uqf2 /A4l qz huur 80000 6 480.0

30232110/3 lurqhpurtlrh urqlrl qmLurr.lnp/A4l qz hurur 80000 1 80.0

30237112/1 ul-rmo urtr p1n\ / 2500 .{tV qt hulur 300000 12 3600.0

3023711212 utrrr g urh ptnh / 5000.1W q.) huln 1000000 2 2000.0

30237112/3 uhntor.lurh pp\ / 8000.{lV q, hruur 1300000 1 1300.0

31211430 \h\urpLu\Luh {uhiuhu\l-rtp uu huln 30000 20 600.0

3121122r rutrgruurlrlhhp UU hrurn 2500 20 50.0

31521560/1
rupurrupfrh lntuu.u{npriurtr pliqhp /urphur;f l-t

r] urhurtlu\ nLf
UU hrurn 20000 12 240.0

3152156012
ruprnruplrh lmuurrlnpLtub lui qtp /upbulflr
{uhuLui\n{

UU hunn 5000 24 120.0

31521360 \t\Lnpu11uL p q uu hurur 7000 30 210.0

31684400/I !upaur!Lhp /220{/ tru hurr.n 2500 40 100.0

31684400/2 {upaullhhp /380d i UU huur 10000 20 200.0

hn4ur! orlurh lnhurml UU huln 500000 500.0

33691160/1 phrihurhurL urq4uhtmBtn /nturqLburhhr/ q.z huln s00000 1 s00.0

33691160/1 hu.tnm! phrlhruLurh ruqnrutrtnrBbn /nhurqhfu rnhLrr/ q) hurr.n 400000 1 400.0

33791300 lupnnurnnn uulruhtru urnurur+nurhp q.) 4nurd 1000000 I 1000.0

3491123Q

burJuuurl|rh hlmptp li ulurhhurnurlurutp
(ppn urmqru$fur\urh rtuqrulnpurllh u2urnpur\,
30-60il)

qz huln 720000 3 2160.0



34911230
bruluurul|rl-r tllmphp h qurhhuuru urutp
(hhnnrblu$urq pnmiurnnqDru$hur!ruh ur2nupru

hurut 1200000 2 2400.0

34917230

bruluurulfrh h;mphp h ulurhhuuuliuuhp
(hh1nt\ruQruq ppnrlurnnnqpruQlnu\urll
furu luu.ur.r lunun u !)

qz hurur 900000 2 1800.0

349i 1230
Euluuul|rh Llmphp h qurhhuuru uruhp

ftrhnmhru$urq ppnr.iurnurnqpur$|rru!urb huliudL2ll)
s2 hurur 1200000 2 2400.0

34941160 &urlhurlfrh urqryutrzruhrulFtr urulPtP hurr,n s00000 1 500.0

35111100 hur\uhplhhulirtr uruPPhP
q2 hurr.n 1000000 1 1000.0

35721290/1 ul.llrytrhp /blub 433 ilhg/ qz hruur 6000 30 180.0

3512129012 urfir2hhp /2hprfurlfrl/ qz huln 6000 30 180.0

35r2129013
ulllrlrhp /urtl{ururhqmplurtr hrurlur\urilqb 2rupdllurL,

433 LIhg/

qt hurvr 5000 30 i50.0

3512129014 rnr]h>l-rtn (purpdp dtr2rlurh nhq\qlLl- qe hurur 600000 4 2400.0

35121290/5 rndfrytrhp (gu-rpd.p db2 ub ) hrurn 600000 4 2400.0

35121290/6 Lnr{f2hhp db2riurh (160 rurnrl)
qt hur.n 30000 4 120.0

35121290/7 inrlhtLbn dhf url-r ( 250 uutti) hrurn 30000 4 120.0

35121290/8 rnr]h>trhn dL2rluh (400 urn )
g2 huln 30000 4 120.0

35121290/9 urlhlhtn dhrrluh (1000 utu )
q2, hurr,n 30000 120.0

3s121290/10 LmlfrlLhp (prupdp db2{qh ) c2 huln 62000 2 I 124.0

35r2129Q/11 ullhthtn (pundn dhZ uh )
qe hurr.n 62000 2 | 124.0

35121290112 rn hltrhn (rrund'n dLz{ub )
qe hruur 62000 2 1 124.0

3s 121290i 13 Lnrlh>l-rtn (purnd,p dL2{uL )
q) hurut 520000 520.0

35121290/14 rn{hltrhn (crundn dLZ tuL )
qe hunn 520000 520.0

35111170 hp4thfr rlurprfurh hruLtur\urpq /200-300 r/ ge hutn- 50000 6 300.0

35120000 urhrl ururLrqntpturh hultu\upqhp q) hunn' 2000d00 1 2000.0

35121280 hu\nq ntplruh hullur!urpq sz huln 2000000 1 2000.0

35121320/1 urhrlrnurhqmplurh urhuurfugb\trhp qZ huln 10000 L 30 300.0

35121320/1 ruhrlrnurhqnrpturh rnhuurfuolrll.rhp (IP Camera) | qZ huln 40000 10 400.0

38311300/1 \h\urpntlulfrh rnhlutrlr\u\urL \2hnpbhl tj ltgf ___L33 huln 178000 I 3 534.0

38311300/2 \h\upnhrul|rtr rnhJuhfr\ru\uh \2hnpbhp /< 30 \q/ qz hrur.n s0000 2 100.0

38311200 f1t\rnpntrurl|rtr {hplmbur\uL \2hnphhp qe hurr,n 37700Q 1 377 .0

38431610 |uurnhlr2hhp i rftuqhf uui\uh/ gz hrurn 200000 2 400.0

38421140/1 6L2rlu:h 2urlrlurh uurPBhP qZ hurr..n 345000 1 345.0

3842114012 &tr2Lturh yurlllurh uuPPhP qz hurur 345000 1 345.0

38421140/3 6h2 ub 2u-lfr Lutr urupphp. pLlullLtr qz huln 255000 I 255.0

38421140/4 6li2Lturh lur{lftuh uLupBtp, priulf lt q, hurr,n 25s000 255.0

38421140/5 2urf urh uupptp q) huln 195000 195.0

38421140/6 prrJllurh uurpptp s2 hurr.n 19s000 1 195.0

38431570 2hnmgfr2 urufi\hhp hutn 10000 | 2 20.0

38411400/1 |unhullur2ullrhp (|untiullu2rurlr \2tnp -hulnqhtrurl|rh

trurlulnrj uturpurg{nl)
huur 840000 1 840.0

38411400/2 ]unhul{ur2u{rhp (}unhur{ru2rurfr \2hnp-
hh$nurlrurnrlhn turtiutnU rrrupluqqnl) q2. hurur 840000 1 840.0

38411800 \nlnplru2urlr /DSC/ huln 10200000 1 10200.0

38431610 ]uunlilr2thp (rllrhytr 101 r.nrupnlntp;ur.lp
hnuluhrlrnuri-rq phull,1ur{nn }uunLh>bhn)

q) hunn 1500000 3 4500.0

38431610/1 t1h\utpu\urtr {ftppurunp qt hrurn 850000 I 8s0.0

38431160/1 ppmlunnnqpru$trtp qe hurr.n 15600000 I 15600.0

3843116012 pjn u-rurnqpul$trhp
q) huln 3360000 1 3360.0

38431190 uqh\urpnrltrnphp FU hurur 0 0

38511120 ul1 u.rtrur{npn1 \h\r.npnllu1 }rtr rfurhpur{rutur\ huur 76800000 76800.0

38591300/1 LuFnlurunl qtrlurlf L ulurg tru hur.ur 700000 1 700.0



38591200/1
plr lrur\urtr lurpnprurnnpfrulmLl \irpunrlnrl uupphp
t9urnt -$hrLnh |rhpl-ru2]uuur r.nltnprurnnp) trU

hurur 4800000 I 4800.0

38591200t2
pfLtfrru\ruh plpnpuunnbullm \lllurm{nq uurpphp
(hrur.nmh !nhur.nnnrbqhurth qtrutrullhphhur) hurn 4s00000 1 4500.0

38591200/3

plllfrur\u.rh lupnpuurnpllulnul \|rprunr{n1 uupphp

tptpLlnqpurlf burpru \urtr Lut.rLu frq Lu urnp TCA
hulfiu\gr{ur8 bntph}r &trur{rn}urlulip }rL$pru\tupilftp
uut hhrnlrurlmuurtufth (FTIR) hhu)

FU hrur.n 60000000 1 60000.0

38s91200/4

pfnifnl\rutr lurpnpuvrnpf rur;ntr.I \|rpurnr.lnrl urupphp

QahpLlnqrrurfr turpru\urh ufrbppnh ruhurfqurr.nnp
TSA hru u.r\g{rub fLSptu\tupilfp
uul thrnnrut muur)urtrh hhrn)

FU hurr.n 0 1 0

38591200/s
qlr bu\uh ppnprurnnpfrurlntr.l \|rpunr.{n1 uurpphp
(rnurnnhnh (C, H, N, S, O) phrlhutllurh ruhruthqutnnp) FU

hrurn 10200000 i i0200.0

38591200/6

pillfrur\ruh lurpnpruunpfrulmrt \frpurnrlnn uurpptp
(ChllnqhLlulL rlb$pu\un{tinp (X-Ray

Diffractometer) FU
huln 46s00000 46500.0

38591200/7

plniirur\urb lurpnprurnnplnulnul \|rpurnrlnl uurpphp
(2hprftu hluurl-tfr\u\rutr utrufrquurnp
Thermomechanical Analyzer (TMA) ) FLT

hrur,n 7200000 1 7200.0

38591200/8

pfr f u.r\ruh lupnpuiumpfulntrl \frpurnr.{n1 uurpptp
(dl,r2rlurl,r, |unhullmp;ruh h 2hprftuuurf duLfr 2u{tf2
rmlfl Lluhuhu\) FU

hurn 50000 10 500.0

38591200/9
pllllrru\urh lurpnpururnplruSmrl \|rpurm{n1 uurpphp
(LrIn rrllhnh $hq rjLlu *rnnd.ru nb Lul-r uu np)

huln
4200000 1 4200.0

38591200/10
pfrlirru\ruh ppnpruurnpfrui;mll \|rprun{nq urupBtp
(h{nrrhtnh ht h utulhluh rhnndurnbrluh uurpp)

hruur.
3120060 1 3120.0

38591200/11
plllfnu\iuh lurpnpurunpfulnt \fpunrlnl uurpphp
(rulrnB' rurnd,n dhzrfurh) tru huna

3000000 2 6000.0

38591200/12
pflilrur\uL lurpnpulnnplrurlm \]rprunrlnl uurpphp
(urqnrnh qthtnurunn) FU

huln 6000000 i 6000.0

38591200/13 Bfrlfnu\urtr pupnpruurnpfrurlnrrl \|rpurmlnl urupphp
(qnthrlhnhqurghuth bruvruthruqrnnn) trLI

rnntrfr
100000 3

300.0

38591200/14
pfrtlfru!uh iulpnpulnnpfrrulnul \frpurnr-ln1 uurpphp
(+hhqnqhutrulntrhn) eu rnmrJr

100000 3
300.0

urupphpf urnnrqru2ur${urh urnruh4ruprn l-nfnr2hhp qe hruur 100000 10 1000.0

39132210
urhuu\unlnp uh 4u-tpur\tu2uphp (trlnrphplt
q u.rhr.q u:hrlurh 4urpur\ ur2urp)

qz hruur 80000 5 400.0

39181100/1 prpnpurr.nnplrurlf uhqurLhtp (plllfrru\urtr uhlu.rh) q) huLn 300000 6 1800.0

39181100/2 lulnpu.rurnplrul|r uhqurhbhp (Qbqh\ru\urtr utqurh) q2 huln 300000 6 1800.0

39181100/3 lupnpurvrnpfrrulfr utquhhhp (pllilrur\u1-r utrlurl-t

\'lqh*-hq)
qt huln 750000 2 1s00.0

39121100 qpruutrpuhhtp q2 huln 100000 15 1500.0

39127520 qpulqurhurpurhtrtp q) hrur.n 100000 5 500.0

391i 1180 urpnn qpuruhhlur\ur;]rh qt huln 8000 5U 400.0

39563800 oqru{urlu{ruh }un1n{ru\ur2rupL1(hr r]utrng pfrphry Lu) UU huln 30000 l0 300.0

39713432 lrn2t\n11 Lru huln 70000 2 140.0

39714200 onnnulrhr Lru hruur 200000 4 800.0

42121370/1 rlullnrntlrurhh ulnLturhp /2HBP-5[M/ qz huln 750000 750.0

4212137012 L{ur\nrm rulfh qn qhp huln 350000 2 700.0

42721690 llurLmmllurrhh qmlqtnh rlurutn /r]rurhurtr./ g2 hrur.n 60000 10 600.0

42631160 oqudh2|r2 (hlqpu{$\) ilLu ilft2Ltp q2 hutn 500000 2 1000.0

42611100

hulnm\ \]rpurnrlurh hururnnghhp
(rpu lmuur nrrn rqrurnpururntlnr hururnngLtplr
hullurr hn)

qz hurr.n 2000000 I 2000.0



42711190 lnlug urt urulpur{npntLlhtp gz huln 400000 3 1200.0

42711190 2npugrftuh uupprurlnpm trhp qz hunn 550000 1 550.0

42711190 2npru glluh uruppru{npnr hhp (Llu\nuiul1f tr) hurn 600000 2 1200.0

429111s0 purp2fr2 qurhurp ur tr, Lltuurrpu\uh hurr.n s00000 4 2000.0

42941120 {ur\mnrrftulfrh r{urnurpuLt qe hruur 27600000 1 27600.0

4294t160 ph\qrfurtr lulntLur2hprlng (pLprlnuururn) q) hurr.n 600000 2 1200.0

42941110 {urnurprul-rtrhp / mQtlut;f V hurr.n 780000 1 780.0

42911150 o4rurfnluriruh uruppru{npnr 1-rhp huur 500000 5 2500.0

4411832Q pfrphq g[tr\uulLunr UU ,tlp 5000 80 400.0

44111400 \rulun{r runuruinrurl uu l.t/p 2000 100 200.0

44163140/r pplr |unqnrlu\, 2 I UU qb/ 450 150 67 .5

44163140/2 2plr |unr1n{ru\,   11 uu qE/LI 900 150 135.0

44163200 |unrlmlLu\htplr rlfrug urh rftuuhp UU hrurn 450 20 9.0

44221100 q ulnn rh urhl-rtp qz ,Ilp 40204 49 1970.0

44221111 rlLunurluulpuuLnt ulu rn n rhr,u trt-rt p lr dLuutp q2 4nlu 2000000 I 2000.0

44221140 4nht1 qZ hruu 200000 5 1000.0

44221170/1
qnhhplr qur 2rnqrul-rfr2 guhg
(rhnuul nn rlhr.munrut urtr rptrbn) q) hrurn 200000 4 800.0

4422117012
qntrhplr qur2urqurtrb2 guhg
(thninur]nn hrnuqurlrul-r rqruurmhruLhhp)

hrur.n 150000 6 900.0

44322200 rlulnrlu. \t\npu\ruL 1up UU rihrnl 250 300 75.0

44322300
rftuprlu Lrurlurur.nhur{uE }rhrnhptrtLnulfrL \uq}t
hrurlurp

UU hup 200 500 100.0

44411300 1L{rugrupLutrLtp uu huln 40000 10 400.0

44421300 thp\|rqr{nq qulhLupulli uu huln 40000 6 240.0

44521170 \n4ulhphtp /h1h\rnpur\urtu / UU hurur 20000 30 600.0

446t120011 pruphhhp ppr{urbLfr lu1dp dL2Ltult qz huln 250000 2 500.0

44611200/2 prulnhhhp u-rqnufr prupdp dtr2 Lul-r q) hurn 250000 2 500.0

4461124013 pupLhtp hhfrnrdfr prupdp d1-r2 utr q) hrur.n 500000 1 500.0

4461120014 prulnhhtp urpqnhlr ptupd.p dtr2 ul-t huln 500000 l 500.0

0uururptpprhtrhp
4531 1 151/1 rlrnpdrup\rftuh uruppu.r{npmritrtp}r ntlnurdthuh l-r

urtqur4p uh ru 2]uur r.nurl-rp l-rhp +Irllli 0 I 0

45311151/2 rJrnpd,urp\rluLr urupprurlnpntLtLhpf Ltnhr.nurdLiurh l.r

urhq unnrlurL !ur]urur.nurhphhp
qt rllur 0 I 0

50411160 rlrnpdurp\nq urupphplL L{hpurlnpnq uL l:
qurhulurLrlurl-r brunu-r3nr-p1nthhtl

q) lluu 0 0

45231275 u Lr r{u u.r tr qntplur tr uupptpf tnl rl Lu rpn rd
(rutl{r.nulhqrr plurh uhLlu\hhpf \urhur{npnt )

uu llur 400000 2
800.0

52111100

nhlrpnpfhqulfrtr uhtrlurll|r uurppul{npnt bhpf ,

hhprunlurl rnhuurhull ruh hu ru\urpqlr uLntqbrlurh l-r

rnhqur4prlurh 6runrulnrplmhhhp
UU llur 400000 2 800.0

7124120Q Lurluurqbhpfr ululnpurur.nmrf, burluuhplr qLulhuurmll uu 4nud 990000 1
990.0

72211180 hur2Llurp\ur1|rh bpurqprul|rh rlrurphphhplr LI2u\ urtt

brunulntp3nr-hl-rtp
gz lDuri 1000000 4 4000.0

72211135 htpplrtr burnurlnqru!urh grutrghpfr hu{ru\rupqlulf tt

bpuqprugirL $ruphpLhpf {2rullLtult
o u,r utrrLldJI Luu ul'

Ururi 0 1 0

48730000 urt{r.nruhqntplutr hu u\upq2u1f h bpuqpulf lr
*rurBhBhhn

q2 lPu 1000000 2 2000.0



45400000/1 2hl.rphplr h 2ltbntplmtrhhplr lhpurglr\ fuapnqrlurh

urrlururnurhpLrhn / 2-nn hurnbh rlhnubapnqmrV
qt rlFurl 3682960 1 3682.96

454{00m./2 2hLptpfr h 2]rLnr-plnl.ttrhirlr ghpurgbq bnpnqrturh
urduurrnurhphtn / 3-nn hurnLh r.lhnurhnnnqm /

o,t qlur{ 7503460 1 7503.46

45400000/3 2hbphplr h 2fhmp;mhhhplr ptrpurglr\ hnpnqrlurh
ur2luunnurl.rphhp / 2-pq h 3-p4 hrup\fr lupnpurnnp
uhtrtruhhhnh rl hnruhnnnqnr-rl/

qt
lPur 6445520 1 6445.52

45400000/4 ]rLrurnf nnmrnf ur2u\nry.Ilurh duruhur2htrplr i 200rI2/

nhpurghU lnpngn
g2 IIF1r1 s000000 I 5000.0

45400000/5 ]rhuurllnmrnfr &urluu\nqdluh uutrru2hhplr
uurtrhph nhBurghU trrpnqmd 300d2

q2 rlFu 3000000 1 3000.0

45400000/8 fhuurfrurmurlr 3-pq hurp\hpf uurbhurhqnr-lghhplr

FLpurghh hnpnqmll
a.) +puli 2261000 1 2261.0

45311127 uprlutrhlf utrg\ur gnnl UU rlpurLt 990000 i 990.0

45421116 lurlunr.lf urnururnur4|r rnhqur4pm UU tpuu 950000 1 950.0

45261110 uulhirph 8urb\rlull u2fuurururhptrtp UU rlpurrt 900000 1 900.0

Clqurilhtrg 4t7562.4

etrnrrJthpphur -rr-r*r' rr@u.u\puryurh
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